is_t 1 l=l(‘I il 8% 1") % $E ﬁ

(2022 3H 31 B TE) BEEEFESEN RTFHERERE
(BH:A)
7 ] & B INEH-EE
(Al & B © %
1 RBEE
21,878,028
HeES 20,481,243
BT & 26,655
VA= 355,058
& 267,780
IR o 208,672
RinE 48,143
EE-YWREE 490,477
mEBEES O 21,878,028
2 EEEE
(WEREEEE 3,286,308
BYitEElR 2,200,796
£ 1,049,857
aEa1—4 1
Javzss 1
RERMEEE 3
TG BRI E A 1
AP )= h—T 1
I7ay 35,648
)BHBEEEE 3
VY797 2
YAk 1
(REEZTDMDEE 1,350,000
EAEE 1,350,000
EE&EESEH - @ 4,636,311
[A)JE E & & O+0Q 26,514,339
(B—-1] & & © #
1 RENAE
6,938,062
XRihe 5,068,207
bi-Uk 1,869,855
REBAREH -0 6,938,062
2 EEAE
0
REEAS 0
BEAMEILE 0
EE&EsEH @ 0
& & & it 0+@ 6,938,062
[B—2] E &% Bt & 0 &
BT EARAR IE LR BAPESE 5,981,527
L HAIE KRBT EE ISR AR 13,594,750
IF Bk B E & & 19,576,277
(Bl & 8 " U IE &k Bt & & [B—1]+[B—2] 26,514,339




